
 

Reading Future  

Create 2 Final (Units 9-16) 

 

 Answer the questions. 

 

1. What is the best word for the blank? 

When you have finished _____________ 

the clothes you want to buy, bring them 

to the front room.   

a. selecting  b. select 

c. selected  d. selects 

 

2. Which word does NOT correctly 

match with its meaning? 

a. argument: not agreeing with 

something 

b. trade: exchanging goods 

c. roof: the top part the covers a 

building 

d. range: the answer to a problem 

 

3. Which pair does NOT have the same 

relation as the sample? 

<Sample: big : huge> 

a. heat : warm 

b. heavily : lightly  

c. perhaps : maybe 

d. achieve : fail 

 

 

 

 

4. Which pair does NOT have the same 

relation as the sample? 

<Sample: fast : slow> 

a. recently : long ago 

b. therefore : so 

c. final : first 

d. a few : a lot 

 

5. Which word has the closest meaning 

to the underlined word? 

When our dog died, our parents 

explained to us the concept of life and 

death. 

a. wheel  b. idea 

c. fight   d. level 

 

6. Choose the option that best fits the 

blanks. 

Betty believes that finding the  

(A) ____________ to climate change is 

(B) ____________ but possible.  

       (A)       (B) 

a. solution  challenging 

b. dialect  universal 

c. gate   local  

d. task   essential 
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7. What is the correct word for the 

blank? 

Brett ______________ the surprise 

party by telling the birthday girl about it. 

a. gained  b. spoiled 

c. stayed  d. loaned 

 

8. What is the passage mainly about? 

English uses many loanwords, such as 

“judo” and “kimchi.” Sometimes, whole 

phrases are borrowed from other 

languages. One example is the French 

phrase “bon voyage”, which means 

“Have a nice trip.” You can say “bon 

voyage” when you are saying goodbye 

to some. 

a. An example of a borrowed phrase 

b. French words used in English 

c. Where loanwords are from 

d. Why English borrows words 

 

9. What is NOT true about the passage? 

Rainbows are created by light reflecting 

and bending in the water drops found in 

the sky. Although a rainbow looks like 

half a circle, it is actually a full circle. 

Most people see a rainbow from the 

ground, so they can only see half of it. 

a. Rainbows are created by light. 

b. Rainbows are made when there is 

water in the sky. 

c. A rainbow is half a circle. 

d. Light and water are needed to create 

a rainbow. 

 

 

 

10. What is “this” in the passage? 

Learning how to spell English words is 

sometimes confusing, but spelling is 

important. Teachers agree with this 

because children need to learn how to 

read and write well. 

a. English 

b. spelling 

c. words 

d. confusing 

 

11. Choose the correct forms. 

When you jump, you need to come back 

down. If you bend your knees, you can 

(A) (prevent / preventing) yourself from 

getting hurt. This is because other parts 

of your legs are better for (B) (absorb / 

absorbing) the shock when you land. 

          (A)      (B) 

a. prevent  absorb 

b. prevent  absorbing 

c. preventing  absorb 

d. preventing  absorbing 

 

12. Choose which is NOT correct. 

Learning a second (A) communication is 

becoming more important. Speaking 

only one language could be a  

(B) disadvantage. Some languages are 

hard to learn because it has many  

(C) dialects. Some people think that 

English is (D) fairly easy to learn.  

a. (A)  b. (B)  

c. (C)  d. (D) 
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13. What is most appropriate for the 

blank? 

Burma, also known as Myanmar, has 

had a dark history. From 1962 to 2011, 

the country’s army leaders controlled 

the country. They killed anyone who did 

not agree with them.  

_______________, many teachers, 

scientists, and artists were killed. 

a. This is because 

b. In contrast 

c. However 

d. During this terrible time 

 

14. Read the passage and complete the 

Wrap Up chart below. 

The water cycle can be divided into 

three stages: evaporation, 

condensation, and precipitation. 

Evaporation happens when the sun 

heats the Earth’s water. The warm 

water goes up into the air. The next 

stage is condensation when clouds are 

made. Finally, the water comes down as 

rain or snow. This is called precipitation. 

 

Evaporation Condensation Precipitation 

Sun heats 

water. 

Warm 

water goes 

up into the 

air. 

  

 

 

 

 

15. Read the passage and complete the 

problem and solution chart below. 

The story of King Theseus and the 

Minotaur is from Greek mythology. The 

Minotaur, who was half-man and half-

bull, loved to eat children. To stop this, 

King Theseus killed the Minotaur. 

However, he could not find his way out. 

Luckily, he laid down string, so he could 

follow it out. 

 

Problem  Solution 

 

 

King Theseus killed the 

Minotaur. 

King 

Theseus was 

lost. 

 

 

 


